PRACTICE QUESTIONS FROM PREVIOUS CHAPTERS.2
CHEMISTRY

1. Bauxite is the ore of aluminium. What features should a mineral have for considering it as an ore?
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2. Find out the wrong pair from the following.

a. i. Iron : haematite ii. Tin :tin tungstate iii. Zinc : Calamine iv. Copper : cuprite.
b.i. s sub shell: 2 ii. p sub shell :6 iii. d sub shell : 12 iv. f sub shell — 14
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3. It is seen the arrangement of electroplating of copper on an iron bangle. —|||

a. Check whether the connection of poles of the battery is proper? I

b. Suggest a suitable electrolyte for electro plating of copper. .
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4. Aqueous solution of sodium chloride is an electrolyte.

a. What are the products obtained at the electrodes when it is electrolysed?

b. Write down the chemical equation of the reaction takes place at the cathode during the electrolysis of this
solution.
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5. It is taken 44.8 L of Oxygen gas (O-) in a jar at STP.

[Atomic number of oxygen is 16 and that of hydrogen is 1]

a. Find the mass of oxygen gas collected.

b. How many molecules are there in the jar?

c. What would be the mass of the gas if it was hydrogen(H) instead of Oxygen ?
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6.A student is trying to observe displacement reaction. The arrangement for the experiment is seen in the
picture.

a. Is it possible to have displacement reaction in this arrangement? Justify.
b. If yes, write down the equations of oxidation reaction.
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7. Itis in blast furnace iron is prepared .

a. Name the major ore of iron.

b. What are the two substances fed into the furnace along with the ore.

c. A few incomplete equations of reactions takes place in the furnace are given. Complete it.
i. CaO + SiO; - ........

ii. CaCOs + heat — ...+ ...

iii. Fe;O3 + 3CO —...... +3CO;
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i. Cao + Si0; —........

ii. CaCOs3 + heat — .... + ...

iii. F6203 + 3CO —...... + 3C02

8. See the table given below and fill the blanks in it.

Name of Ore Method of concentration
Bauxite | e . \p—
Oreof Gold | - | S Y——
Tinstone | - (@ E—
Zinc blend (ZnS) [ = - ) J—
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